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N E3ASAMYL
A ABEANYUTIBEL (E2/AEOGOIH)
Sl ABHENYL U HARY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
09 HALAHIEA S 1,920 1,860 60
OHESA =4 32 41 24
8,000& 20 +33| 480
OUESA &2 FIHX ol
60,0003 «2F 404 2 X «3 1,440
NJIEEd=s 7,500 7,500 0
AAI T AMEF XA
1,500, 000& *5H X = 7,500
307 glz2tol & 10,000 10,000 0
02 It HAHE L 10,000 10,000 0
OZEA HESA 2/0t3tdI0l B=
10,000, 000& 10,000
OCSSHNESMAAMLES N I<E > 6,480 5,700 780
< 1,944
Al 4,536
301 gt L= 6,480 5,700 780
< 1,944
Al 4,536
1MIIEBESS 6,480 5,700 780
OCESABAR AMESKA
64,8003 x55 204 & 6,480
S 1,944
Al 4,536
SEABHIIISE A= NE<E D> 5,500 5,500 0
< 1,650
Al 3,850
201 £B-2dH| 5,500 5,500 0
= 1,650
Al 3,850
01 At 22l 5,500 5,500 0
O6.8xt= 5,500
MBS 2A Y 28 AR
1,100, 000& 54 5,500
< 1,650
Al 3,850
HEOILLEEEFHZ0IJIALE<E 2> 6,000 0 6,000
= 1,800
Al 4,200
301 et a s 6,000 0 6,000
< 1,800
Al 4,200
MIIEEd=S 6,000 0 6,000
Ooelol LLESHHZ01D] &0IA AMEE
A& 100,000 *60H 2 6,000
< 1,800
Al 4,200
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HE2AZH (B AZA M) (IIEH/IIE) 156,902 133,461 23,441
ol 2d | 29,838 27,857 1,981
FNUSE2HH| 29,838 27,857 1,981
101 @124l 29,838 27,857 1,981
03 RIAHA2ZZ2HE > 29,838 27,857 1,981
OHIEQAM LA (HAMENRSX )= R 22l 29,838
-Jl=s 1,116,050 x1H x12& 13,393
-d0= 1,116,050 & » 1H x450% 5,023
-ZH F Ot 1,116,050 & =12 «120% 1,340
-hEsE 80,0003 x1H » 12 960
—AX 55,8003 x1H » 162 893
—Z A S A 130,000 1 123 1,560
-ns2 x| 70,0003 x1H « 128 840
-2 EIHAS 30,0003 x1H «12& 360
AR 1,116,050& »1Z «10%*12& 1,340
-d2sd 1,116,050% * 18 » 15%*23| 335
ERGESESECES 316, 120@ 18 128 3,794
|22 127,064 105,604 21,460
f A2 9,344 9,004 340
201 YEre Al 9,344 9,004 340
01 At 22l 8,344 8,004 340
ORN2Y el 4,600,000& 4,600
ORAM2Y =St 2,160,000 2,160
O=A2] & xt 132,000& = 1CH» 128 1,584
02 =224l 1,000 1,000 0
ORNM2YE 8323 1,000,000& 1,000
AR FE LI 109,620 92,400 17,220
202 044l 109,620 92,400 17,220
01 = LH o4 1l 109,620 92,400 17,220
OFYUPFAAHL 20,0008 x29F «152 122 104,400
OMEUEZSANEl 20,0003 x29H «3 x3& 5,220
R =& 8,100 4,200 3,900
203 R =&l 8,100 4,200 3,900
01 1228 =4 3,300 0 3,300
OJIZ2g g2 F8| 3,300,000 3,300
04 EA2IYRFLH| 4,800 4,200 600
ORNSYE2FTAHI(Z&:30)
400,000& 123 4,800
NRES(BZASZAND) (HB2S/8Z25U ) 20,520 30,780 ~10,260
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